normalized X?

[ normalized x? probability |

s 01
Std Dev
102k 0.08
10°F- Serpe 0.06p-
10k 0.0af--:
10’5;— 0.02 ' P AR R AR
om;%- o TP i Tt i R
g g A H‘UH T
g 12 g 105 .i, u.‘lj'\'k Ul‘”H"H‘ HI ‘”'Hh'hli I ”.u!l‘
1.4 HI\ l\l \
| il “"M i
5 L O *of] lll\||”’\|||\ |u||\||\|||‘||hu1||| |||u||‘mn ||\|”||\|H|| |t i
0 2 4 6 8 10 12 14 16 18 20 0.10.20.30.40. 6070809 1
X Prob(xz)

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

mmmm= DQM_mkFit_baseline
e DQM_mkFit_baseline6iter
wmm— DQM_mkFit_TT_RetrainV2_WP1_6iter_ep3
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